1\0\"\@50 Rw&

1]-2]-3
7A\>Ck Mo e Cuexe ordenadio - 1—[ / e
O — [’_\_I?OL

ESEYC‘UC'\O 2
) K- 2x D —

L - _ _ -
)(1,_7_)( _’3) n =2 X ~ 2 x 3‘*O-(?<fl)(x-3\-ﬁ[(,)
AN e TR s

-1 2
« € (-2 -LVU (3t )

i\'\BL(*\



c\ «(w- L\\»c"l\ (x=3)<o

N
{0
R A
‘b-llu(\’kﬂ\ +’_,_\———F A . -2
z 3

o 1

X C (O,l\utzt’g\






tx >3, / “E 1) (s, ra)

)(6 (3:\31*“’)




<9 ’—"—-7,((?\"2**5

® 2 %/3 :73(:\:%*‘*‘\_

Y <“°7‘3 => 3 (x) =-3,." %
caso A

e ¢ ‘}
_- 9=
g ‘
. !
— N
7
% t-
{ {
/
{ f
I
| c 9So 2




(O\ﬁv\_ __17154’3*‘5\. —> ?*<":5

A C G -3, 4B => w el = 1)
2 1\44-543%*/“‘ :_75%7&."_—7

—

o9

— L5502 )
. € Go =) By = x &l

=> ;<>"3

o)

Caso 2 I x -b < SN
X o —5{1 ’eaﬂ =2 » Q{f?/z,)
XQK"{’)J#j)U(i{%ltm)

~ >3/5






Yoo JoeT = ob X0 =y () = %

LG
\é\ A 2o« Nab (> Z\/a\a\/:\‘; <\/Qb d—> 2Js < bra
/\;: b+ o (2R = 25

<= >
(s 4 olo < BT r2ab vt ST b2 e’ Yo

(b‘q}

rUmY < Lo

¢ b
GeA o <22



/

Q. t D -
---_—_.-‘ ____-__"‘——--
- 2.
‘) —
v o =3 a< b &2 o < b



N C

a th

—_—

=

ngz-rb

,/’"’—;é . T 111_
S SN S P
7 % 2

Loy oftlebrbt $ZaT 12T at-2abtb 2O
(a-H)°



)?u\hc‘ oreS  (ea\eS

Eerces b (1) = \ne







